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( Public Finance )

Full Marks :-80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following : 1x10=10
wore fraIRRT Tes fere

(a) Fill in the blank :
Q& o1 =7 1 ¢

Public Finance is the study of government
revenue and government ——.

qrery R (30 559191 92 WF 5P ——
SR |
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(b)

()

(@)

(e)

14A—11*%/185

(2)

Choose the correct word to fill in the
blank :

g o] IR Gt Al OfR R 9

In the case of private finance, an
individual always tries to have a
budget. (surplus/deficit)

Ifere [ex cvae Ifem Few s ——
CZRICHT RE1ET | (@3 /=)

What are the two main sources of public
revenue?

SIPIR eRT Yol A4 T R 2

Fill in the blank :
AN 1R <t 0
Income tax is a form of —— tax.

RS (2 —— 9|

Choose the correct answer :
% T Az Tferear :

Under which type of téx, the rate goes on
increasing with the increase in income?

@FFRY I99 3T AW I FAcoreres e I/ 2
(i) Proportional

RIERlIc

{ Continued )

0

(9)

$ (h)

()

14A—11*/185

(3)

(ii) Progressive
R EERIE
(iii) Regressive

FALPI

What is public expenditure?
BRI PP RIC 2

Write True or False :
) ( STe) o

Sinking fund is a method of debt
redemption.

oifSeRs Y Caer 99 “AReNE @bt o1l |

Choose the correct word to fill in the
blank :

9 *[<C1 MR O J1e IfR 2[Fe 3947 -

Full employment and economic stability
is an objective of fiscal policy in ——
countries.

(developed /underdeveloped)

o e s wfes el tarr —— R
ey eI @F S |
(Tars / Sazerret)

Mention the two types of unbalanced
budget.

SIPITNRA ICHEI 21T o1 fora |
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(4) (5)

() In which year was the First Finance (b) What are the main characteristics of a
Commission constituted? ; tax?

@ 5O AN 7S et 10 T (2R 2 o e

2. Answer the following : 2x5=10

wors francad es fors (c) How does increasing public expenditure

g affect the ability to work and save?
() Name different divisions of Public

Finance. s 5IFR A FITFO! AF A TP [P
ey R Rfew S am for | orsii® T2

(b) What is a direct tax?
ofoT® 99 132 (d) Distinguish between internal debt and

external debt.
(c) Mention any two causes for the recent

increase in public expenditure. TSR A S A 4T oS AL ol |
SRFIR Y TR I O FIAT T F |
(d) What is public debt? (e) Describe deficit financing as an
5 & instrument of fiscal policy for financing
hGiha economic growth of an underdeveloped
(e) What is government budget? economy.
SRR D 2 ' SErE (R TS Ifae [{E @I (RS
3. Answer any four from the following : 5x4=20 lq{;ni: ﬁini : 5 et fonr Al en
<9 AN
oo R e oI Ted fora -
(@) Sho“'r any five di§tinctions between () Distinguish between balanced budget
public goods and private goods. and unbalanced budget.
Edl TG O AT ¥R RO Anbl

TSTefef CEH WF SPSIeyf AT e AL
forar 1

14A—11*/1858 ( Continued ) 14A—11%/185 ( Turn Over )
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(6)

4. Answer any four from the following :  10x4=40
So & (I BIRGR Tey forer

(a) Explain the similarities and differences
between public finance and private
finance.

PRl Re oe Afere [Res o[ g =e
of12f5 o2 |

(b) Discuss the role of public finance in
developing countries.

TEREEE TS BRI e SR et 1 |

(c) Distinguish between absolute and
relative taxable capacities.

Ff9E WE WeiEE F9 ome AN o1

fora o

(d) Explain the objectives of public
expenditure. ”
SIS A oy R |

(e) Describe the canons of  public
expenditure.
SIS T oA 361 41 |

(f) Discuss various methods of redemption
of public debt.

SRRl ¥ AReTm Rfew cmfeTR
SICS 41 |

14A—11*/185 ( Continued )

(9)

(h)

14A—11*/185

& .

Describe the objectives of Fiscal Policy in
a developing country like India.

OReY WE TN (TS ISR Sfes
SCePTR I 340 |

Describe the Revenue and Capital
Accounts of a government budget.

SR ety e Bor W T R
Fefey) T |
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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
TP S oere frareas Tey i
(a) Human development index includes
income, education and -—— while

measuring development.
(Fill in the blank)

TFEE (SR (ERE A TG-Sz oo o,
PPl ST —— AR TR = |
(R1ET 3% 79 F90)
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(b)

()

(d)

(e)

(2)

Point out one limitation of per capita
income as a measure of development.

Tawa (e wfden fRoed A wiga 9o
we! SEd 390 |

Who propounded the théory of
unbalanced growth?

SpTTSTey YT SGCoT (I TP R ?

Backwash effects have favourable
results of economic expansion.
(Write True or False)
oI oI AfIITS FAARSS PR S
pe] CT |
(3197 (1 =Ty foran)

Professor Ragnar Nurkse is associated
with the theory of balanced growth /
unbalanced growth.

(Choose the correct answer)

S @S W fET e e
SEHN OIS G |
(o Teach! Aifk Tirear)

What is capitalist surplus?

“ffeal Tge 52

i ud

@

(h)

@

0

Answer the following :

(3)

Give the meaning of labour-intensive
technique.

Y-fRT (e o for |

Name the basis on which industries
are classified as large or small.

fF2g fofes Tomsrze e wwr gu I
NS 79 7, o |

Mention any one contribution of
agriculture to the process of economic"
development.

el e afermiter PRUeR wskeE . ok
R @ abr sifvzer Sea w9

State any one merit of small-scale
industry in the context of developing
economy.

S (R erwlebe Fu Soee R e
«B1 @9 TTEe 91 |

woTs franeaes Twg foy

(@)

(b)

Define growth.
e Agel fe |
What is human development index?

2x5=10
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3.

14A—11*/186

()

(@)

(e)

(4)

What is the meaning of life expectancy?

e one SIRpET e 2

State the concept of dual economy.

ta® e At o |

State any two importances of industries
in the development of an economy.

wYAS 9377 TEETe S & @I 15 9
a1 '

Answer any four of the following questions :

5x4=20

g oS R e wifRbR S for

(@)

(b)

(©

Describe briefly the sources of economic
growth.

SRtaies TYfae SOPRR YL A1 40 |

between growth and

Distinguish
development.

T o T Ao AR

Briefly explain the meaning of backward
linkage and forward linkage.

PBIYR FCA AF SR AR FY TLF
EUsES Il

( Continued )

4.

(@)

(e)

(S)

State the role of State in the process
of development as viewed by Professor
Myrdal.

1 C o B Sl K I (4 SIRCEL C R T2 1
IR S 5, fora |

Argue the case for small-scale industry
in developing countries.

Ty (P A FE SO T e
el |

Why are large-scale industries not
suitable in developing countries?
Answer in brief.

Trge oM A 2R SonleR 6 TR
27 7 Y Teq fordl |

Answer any four of the following :

werq R @I SRR Teg o

(a) Explain the problems of measuring
development.
THE (AR RS (73l WA AP
901

(b) Describe the causes of economic

14A—11*/186

underdevelopment.

HASE SRS FIRECAT I FAT

10x4=40

{ Turn Over )



()

()

(e)

()

14A—11*/186

(6)

State the main features of Lewis theory
of unlimited supply of labour.

27 Wi SR @AW OGO Yo AR
o1

How far is the theory of unbalanced
growth applicable to the developing
economy? Explain.

sy fE gl ST o i
T THTGS S=OTCA 2 =0T A i

Write notes on the following :
wors AT (rRel o

(i) Vicious circle of poverty

RS o
(ii) Limitations of balanced growth
eyl I el
Assess the role of agriculture in the
development of an economy.

WS Q2717 Tere FRI SRl e w4 |

What is choice of technique?
Distinguish between labour-intensive
technique and capital-intensive

technique.
@rE ovw W 5 an-fARke @E wre
TG-S (PR e A1 o1 |

( Continued )

(h)

14A—11%/186

(7)

“Labour-intensive techniques are more
favourable for developing countries.”
Do you agree? Give reasons for your
answer.

AT (e SEEERE o A0 SRS
Tt 177 YT TN FACA? (OWNE Tag
RiGRESC RGN
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